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Answer: A, B 

QUESTION: 45 

What is now the most common incentive for implementing a green plan? 

A. less pollution
B. positive publicity
C. cost cutting
D. government regulations

Answer: C 

QUESTION: 46 
Which Cisco solution can assist with the adoption of 802.11n by solving problems that are 
related to the combination of 802.11a/g and 802.11? 

A. Cisco ClientLink
B. Cisco Telepresence
C. Cisco TrustSec
D. Cisco Medianet

Answer: A 

QUESTION: 47 

What is the current consumer green energy trend?
 

A. The global consumer trend involves significant decreases in renewable sources.
B. Wind energy predictably matches peak demand times.
C. Fluctuating demands make it more complex to maintain a reliable electrical system.
D. Customer energy demands remain stable and predictable, despite changing trend!

Answer: C 
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QUESTION: 48 
You want a security solution that enforces access and policies in the borderless network by 
providing information such as identity, time and date, posture, location, device type, and access 
type. Which Cisco solution will provide you with this information? 

A. Cisco TrustSec
B. Cisco Adaptive Security Appliances
C. Cisco IronPort Web SecurityAppliances
D. Cisco AnyConnect

Answer: A 

QUESTION: 49 

What are two roles of Cisco EnergyWise technology on routers and switches? (Choose two.)  

A. It provides customizable management-level reports to communicate energy savings and
environmental impact.
B. It provides configuration, management, data aggregation, and console services for the
solution. It enforces policy on attached PoE devices.
C. It coordinates the power management of disparate device types.
D. It promotes sophisticated and granular energy management for PCs and laptops.

Answer: B, C 

QUESTION: 50 
Which two Cisco Borderless Network solutions provide network-integrated WAN optimization 
and scalable application-aware acceleration to reduce bandwidth costs while delivering optimal 
user experience for both cloud services and locally hosted services? (Choose two.) 

A. Application Velocity
B. Cisco Mobility Services
C. Cisco WAAS Express
D. Cisco EnergyWise Orchestrator

Answer: A, C 
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